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Algebra 1 Semester 1

Assessment Training Practice #1A

1) Iff(x) = -2x + 2 then fmdf()

/L\

T(oﬁ//r O/Z/Co?>+02/
= _/ Fol)

0

2) Ifg(x)— x + 5x, then find g(-12).

qC12) = - (13)=+J" 1L
- = -/44 +-00

3.) Evaluate |—x — 2y|forx = -2andy = 3.
|-(-2)-a-3
[2-G

-4+ (%)

4) Given the following relation, what is the domain and range?

{(-2,4), (-2,0), (6,5), (0,-2)

\/(\-)

Domain:

}
=20, Lt
50? <f

Range:




5.)  Make a mapping diagram that represents the relation and determine whether the relation is

a function.

{ (_31 -6)! (-11 _6)1 (5’ _6)1 (81 -6) }

Is the relation a function? Explain.

S : . N ,
The, relabion 1s a Tuncbion because, each of
the. inputs has 6%06%,’ ane. oubpu.

6.) What is the domain and range of the relation shown? Is the relation a function? Explain.

List the points:{(@/,%}) (//. Q) (0?) O) (0:3) “&) 7}'

7

Domain: Z(O) /) 0?3
Range: {_m/)) O} 52/\ /\7&\}

Is the relation a function? Explain.

No becouse, the, 2imput
of A has mare, than 1

- broalaud = w s medomlia
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7.) Find the domain and range of the relation. Is the relation a function? Explain.

Number of Identical | Regular Cost
Notebooks of Notebooks
(No Discounts)
7 §5.59
2 1.58
5 3.95
3 237
73

Domain: f&/ﬁ) Lf)j\
rarge: {1.58,2.07,3.95, 555
s the relation a function? Explain. S’J&S é@COUcSC’) 7%/\ (0/0@/7

inout, bhere /s 6%06@5{ ane. ouloud.

8.) The graph represents how much soot is produced by a certain factory beginning at 8 am.

List the points: (O, 07) (0/{;3) (é; /76) (?; />

D>

Rate of Soot Production (kg/hr)

=3
o

Rate of Soot
Production in kg

A \\

)\

N\

N

S
1 2 3 5 6 7 10
q lo, Il /&,

Hours Past 8:00 am

= N W b OO N 0O O

a.) Domain: [O/\ q] Range: [ l) /\?lj

]
b.) How much soot is the factory producing at noon? Ob()é,{_@ (3 7 /L)/C?




9. Given the function, T(s) = ——s + 4 , Where T is the time it takes to decorate the gym for a
dance and s is the number of students on the decorating committee, answer the following:
a.) What is a reasonable domain for this function?
(1.2.3.456.783
b.)  Find T(12)
T03) - O@(%) %z,
= -(p +
- /02_,
G.) Does this value of y make sense in the context of this problem? Why or why not?
£ s
Lhe. y value represents tumes Lherchore. -/2.
does N0t make. sense. because, wou Lanno
have negat/ve) time. O
d.) Graph T(s) U . R A
A decormting The Gy
/\/\,{/‘“/L‘t’izlA
or
[ \JV/ "5

—_ WV W xS Q003

/e
IR > Muméer of 1%ep !

/
e.) Is this data discrete orZontlnuous? Make your explanatlon fit the context.

T/‘\P 5//}? 18 O//(SG[‘@Z)v (/J//?/O/) /MEANS fd@ﬂnoé

connec,o the, com'“é& T1 the, LTS are.
connected, 1molying Continuolls data, &hen Hhe
%Zmp/) cJou /0/ éﬁg Jot ce can fove O froctionn!

ot of O L0Er800N.
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10.)

Determine if the relation is a function. State the domain and range of each graph.

a.) Is the relation a function? Explain
2 %" because, for each //muz‘/
T there. 15 exatbly one. outout,
// Domain: [ % OO\)
/ 1
ATt e (0,00
v
b.)
A Is the relation a function? Explain
No because. the, X value. of
,//.
i J has to different outputss
’ > (33) cmol h m) THIS wéf JUs
“ L.//m) 187 9) ‘i&S
. Domain: _ ) (jj 77
q Range: [ ‘/)?)(jj
\Y4




Is the relation a function? Explain

Tes because. each inouts has

d)

=Tt
T+ 2348587897

f,%aaz’:ﬁa/ ONE, ouz@aué.

Domain: [" % L/j
Range: [O/\ Jj

Is the relation a function? Explain
125 becouse, each (npul

has exac :i/u/ 0ne. mdéﬁJb
Domain: / oo OG)

Range: EO/\ OO)




11))

b.)

12.)

d.)

e.)

f.)

Jenna works at a retail shop. She makes a flat rate of $10 per day at work, plus $3 for each

item she sells.

A Jenna's Sales
y
~ g
30 //
25
Dollars Earned by /
Jenna 20 /.(
15 /"
10
5
1 2 3 4 5 6 7 8 9 10 X
V Number of ltems Sold by Jenna

Explain why the graph represents this function.
Jenna b@(?//b at %0 since, Lhat 1s the, amounts SHE.
ke when She aoes not sSell any 18ems. Then codh

/
Lme., Jenna Sells an rtem . the cmwﬁ INC/EASCS éua
chich 1S theConotant rateét L% (?u

Wirite an equation for this graph.

U = IX+/0O
J

Decide whether the following are rational or irrational.

21 Rational or

34 or Irrational
V5 Rational or @
g . 3\[22_5 @ or Irrational
— @ or Irrational
(V7)? @ or Irrational



